

Summary of Bids Received

Project: Hutchins Road at Mill Creek Bridge

Section: 17-00275-02-BR

Description: Replace existing culverts with bridge

CPMS Pin: B-01372A

Let Date: 3/12/2019

| Bidder | Address | City, State, Zip | Bond | Bid Price | % Over/Under Eng. Estimate | \$ Over/Under Eng. Estimate |
|----------------------------|-----------------------------|-----------------------|----------|----------------|----------------------------|-----------------------------|
| Lorig Construction Company | 250 East Touhy Avenue | Des Plaines, IL 60018 | Bid Bond | \$1,467,849.51 | 9.28% | \$124,646.66 |
| Alliance Contractors, Inc. | 1166 Lake Avenue | Woodstock, IL 60098 | Bid Bond | \$1,634,659.65 | 21.70% | \$291,456.80 |
| Copenhaver Construction | 75 Koppie Dr. | Gilberts, IL 60136 | Bid Bond | \$1,852,829.63 | 37.94% | \$509,626.78 |
| Rausch Infrastructure, LLC | 8700 W. Bryn Mawr, STE 830N | Chicago, IL 60631 | Bid Bond | \$1,962,139.26 | 46.08% | \$618,936.41 |
| Engineer's Estimate | | | | | | \$1,343,202.85 |

| | | | | | | | |
|--------------|-------|--------------|-------|-----------------|-------|--------------------------|-------|
| Design | _____ | IDOT(2) | _____ | Contract Bidder | _____ | SES then Plan Rack | _____ |
| Finance | _____ | Bid Tab File | _____ | Resident Eng. | _____ | Administrative Assistant | _____ |
| Construction | _____ | Project File | _____ | Request By Mail | _____ | Mgr Capital Programming | _____ |

Return Bid Tabulation

Project: Hutchins Road at Mill Creek Bridge

Section: 17-00275-02-BR

Description: Replace existing culverts with bridge

CPMS Pin: B-01372A

Let Date: 3/12/2019

| Item No. | Pay Code | Description | Quantity | Unit | Eng Estimate | | Alliance Contractors, Inc. | | Lorig Construction Company | | Copenhaver Construction | | Rausch Infrastructure, LLC | |
|----------|----------|--|----------|-------|--------------|-------------|----------------------------|-------------|----------------------------|-------------|-------------------------|-------------|----------------------------|-------------|
| | | | | | Unit Price | Extd. Price | Unit Price | Extd. Price | Unit Price | Extd. Price | Unit Price | Extd. Price | Unit Price | Extd. Price |
| 1 | 20101100 | TREE TRUNK PROTECTION | 3.0 | EACH | \$75.00 | \$225.00 | \$80.00 | \$240.00 | \$225.00 | \$675.00 | \$30.00 | \$90.00 | \$268.00 | \$804.00 |
| 2 | 20101200 | TREE ROOT PRUNING | 2.0 | EACH | \$130.00 | \$260.00 | \$150.00 | \$300.00 | \$250.00 | \$500.00 | \$30.00 | \$60.00 | \$298.00 | \$596.00 |
| 3 | 20100210 | TREE REMOVAL (OVER 15 UNITS DIAMETER) | 18.0 | UNIT | \$29.00 | \$522.00 | \$50.00 | \$900.00 | \$55.00 | \$990.00 | \$55.00 | \$990.00 | \$65.00 | \$1,170.00 |
| 4 | 20200100 | EARTH EXCAVATION | 516.0 | CU YD | \$28.00 | \$14,448.00 | \$12.00 | \$6,192.00 | \$38.00 | \$19,608.00 | \$48.00 | \$24,768.00 | \$58.00 | \$29,928.00 |
| 5 | 20201200 | REMOVAL AND DISPOSAL OF UNSUITABLE MATERIAL | 141.0 | CU YD | \$25.00 | \$3,525.00 | \$12.00 | \$1,692.00 | \$60.00 | \$8,460.00 | \$48.00 | \$6,768.00 | \$75.00 | \$10,575.00 |
| 6 | 20300100 | CHANNEL EXCAVATION | 775.0 | CU YD | \$30.00 | \$23,250.00 | \$18.00 | \$13,950.00 | \$62.00 | \$48,050.00 | \$67.00 | \$51,925.00 | \$75.00 | \$58,125.00 |
| 7 | 20400800 | FURNISHED EXCAVATION | 512.0 | CU YD | \$30.00 | \$15,360.00 | \$1.00 | \$512.00 | \$1.00 | \$512.00 | \$12.00 | \$6,144.00 | \$107.00 | \$54,784.00 |
| 8 | 20800150 | TRENCH BACKFILL | 36.0 | CU YD | \$65.00 | \$2,340.00 | \$76.00 | \$2,736.00 | \$65.00 | \$2,340.00 | \$40.00 | \$1,440.00 | \$76.00 | \$2,736.00 |
| 9 | 21001000 | GEOTECHNICAL FABRIC FOR GROUND STABILIZATION | 2,147.0 | SQ YD | \$2.00 | \$4,294.00 | \$1.00 | \$2,147.00 | \$1.50 | \$3,220.50 | \$2.00 | \$4,294.00 | \$9.00 | \$19,323.00 |
| 10 | 21101615 | TOPSOIL FURNISH AND PLACE, 4" | 2,014.0 | SQ YD | \$5.20 | \$10,472.80 | \$0.10 | \$201.40 | \$0.10 | \$201.40 | \$5.00 | \$10,070.00 | \$8.00 | \$16,112.00 |
| 11 | 21301052 | EXPLORATION TRENCH 52" DEPTH | 25.0 | FOOT | \$250.00 | \$6,250.00 | \$15.00 | \$375.00 | \$100.00 | \$2,500.00 | \$15.00 | \$375.00 | \$353.00 | \$8,825.00 |
| 12 | 25000210 | SEEDING, CLASS 2A | 0.3 | ACRE | \$5,500.00 | \$1,650.00 | \$23,000.00 | \$6,900.00 | \$23,000.00 | \$6,900.00 | \$25,000.00 | \$7,500.00 | \$4,780.00 | \$1,434.00 |
| 13 | 25000314 | SEEDING, CLASS 4B | 0.0 | ACRE | \$6,500.00 | \$65.00 | \$50,000.00 | \$500.00 | \$50,000.00 | \$500.00 | \$25,000.00 | \$250.00 | \$29,875.00 | \$298.75 |
| 14 | 25000400 | NITROGEN FERTILIZER NUTRIENT | 37.0 | POUND | \$3.10 | \$114.70 | \$1.00 | \$37.00 | \$1.00 | \$37.00 | \$1.00 | \$37.00 | \$3.60 | \$133.20 |
| 15 | 25000600 | POTASSIUM FERTILIZER NUTRIENT | 37.0 | POUND | \$3.10 | \$114.70 | \$1.00 | \$37.00 | \$1.00 | \$37.00 | \$1.00 | \$37.00 | \$3.60 | \$133.20 |
| 16 | 25100630 | EROSION CONTROL BLANKET | 1,437.0 | SQ YD | \$4.00 | \$5,748.00 | \$4.85 | \$6,969.45 | \$5.00 | \$7,185.00 | \$2.00 | \$2,874.00 | \$1.80 | \$2,586.60 |
| 17 | 25200110 | SODDING, SALT TOLERANT | 492.0 | SQ YD | \$8.75 | \$4,305.00 | \$12.00 | \$5,904.00 | \$12.00 | \$5,904.00 | \$9.00 | \$4,428.00 | \$17.00 | \$8,364.00 |
| 18 | 28000250 | TEMPORARY EROSION CONTROL SEEDING | 63.0 | POUND | \$3.50 | \$220.50 | \$5.00 | \$315.00 | \$5.00 | \$315.00 | \$0.01 | \$0.63 | \$7.00 | \$441.00 |
| 19 | 28000305 | TEMPORARY DITCH CHECKS | 165.0 | FOOT | \$14.50 | \$2,392.50 | \$13.00 | \$2,145.00 | \$13.00 | \$2,145.00 | \$15.00 | \$2,475.00 | \$16.00 | \$2,640.00 |
| 20 | 28000400 | PERIMETER EROSION BARRIER | 1,184.0 | FOOT | \$3.50 | \$4,144.00 | \$3.25 | \$3,848.00 | \$3.25 | \$3,848.00 | \$2.00 | \$2,368.00 | \$4.00 | \$4,736.00 |
| 21 | 28000510 | INLET FILTERS | 1.0 | EACH | \$130.00 | \$130.00 | \$25.00 | \$25.00 | \$250.00 | \$250.00 | \$100.00 | \$100.00 | \$358.00 | \$358.00 |
| 22 | 28001100 | TEMPORARY EROSION CONTROL BLANKET | 3,069.0 | SQ YD | \$1.50 | \$4,603.50 | \$0.10 | \$306.90 | \$0.10 | \$306.90 | \$1.00 | \$3,069.00 | \$1.45 | \$4,450.05 |
| 23 | 28100107 | STONE RIPRAP, CLASS A4 | 485.0 | SQ YD | \$95.00 | \$46,075.00 | \$84.00 | \$40,740.00 | \$105.00 | \$50,925.00 | \$80.00 | \$38,800.00 | \$157.00 | \$76,145.00 |
| 24 | 28200200 | FILTER FABRIC | 485.0 | SQ YD | \$5.00 | \$2,425.00 | \$1.00 | \$485.00 | \$2.50 | \$1,212.50 | \$5.00 | \$2,425.00 | \$18.00 | \$8,730.00 |

Return Bid Tabulation

Project: Hutchins Road at Mill Creek Bridge

Section: 17-00275-02-BR

Description: Replace existing culverts with bridge

CPMS Pin: B-01372A

Let Date: 3/12/2019

| Item No. | Pay Code | Description | Quantity | Unit | Eng Estimate | | Alliance Contractors, Inc. | | Lorig Construction Company | | Copenhaver Construction | | Rausch Infrastructure, LLC | |
|----------|----------|---|----------|-------|--------------|-------------|----------------------------|--------------|----------------------------|--------------|-------------------------|--------------|----------------------------|--------------|
| | | | | | Unit Price | Extd. Price | Unit Price | Extd. Price | Unit Price | Extd. Price | Unit Price | Extd. Price | Unit Price | Extd. Price |
| 25 | 30300001 | AGGREGATE SUBGRADE IMPROVEMENT | 82.0 | CU YD | \$38.00 | \$3,116.00 | \$42.00 | \$3,444.00 | \$74.00 | \$6,068.00 | \$50.00 | \$4,100.00 | \$156.00 | \$12,792.00 |
| 26 | 30300112 | AGGREGATE SUBGRADE IMPROVEMENT 12" | 1,809.0 | SQ YD | \$15.00 | \$27,135.00 | \$21.00 | \$37,989.00 | \$23.00 | \$41,607.00 | \$14.00 | \$25,326.00 | \$30.00 | \$54,270.00 |
| 27 | 35101800 | AGGREGATE BASE COURSE, TYPE B, 6" | 161.0 | SQ YD | \$8.25 | \$1,328.25 | \$10.45 | \$1,682.45 | \$17.00 | \$2,737.00 | \$9.00 | \$1,449.00 | \$31.00 | \$4,991.00 |
| 28 | 35102000 | AGGREGATE BASE COURSE, TYPE B, 8" | 136.0 | SQ YD | \$28.00 | \$3,808.00 | \$13.90 | \$1,890.40 | \$21.00 | \$2,856.00 | \$11.00 | \$1,496.00 | \$38.00 | \$5,168.00 |
| 29 | 40201000 | AGGREGATE FOR TEMPORARY ACCESS | 54.0 | TON | \$30.00 | \$1,620.00 | \$15.00 | \$810.00 | \$42.00 | \$2,268.00 | \$25.00 | \$1,350.00 | \$99.00 | \$5,346.00 |
| 30 | 40600275 | BITUMINOUS MATERIALS (PRIME COAT) | 481.0 | POUND | \$0.75 | \$360.75 | \$0.01 | \$4.81 | \$0.01 | \$4.81 | \$1.00 | \$481.00 | \$0.01 | \$4.81 |
| 31 | 40600290 | BITUMINOUS MATERIALS (TACK COAT) | 395.0 | POUND | \$1.05 | \$414.75 | \$0.01 | \$3.95 | \$0.01 | \$3.95 | \$1.00 | \$395.00 | \$0.01 | \$3.95 |
| 32 | 40603080 | HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N50 | 688.0 | TON | \$85.00 | \$58,480.00 | \$82.60 | \$56,828.80 | \$87.00 | \$59,856.00 | \$86.00 | \$59,168.00 | \$83.00 | \$57,104.00 |
| 33 | 40603335 | HOT-MIX ASPHALT SURFACE COURSE, MIX "D", N50 | 238.0 | TON | \$110.00 | \$26,180.00 | \$105.00 | \$24,990.00 | \$110.00 | \$26,180.00 | \$115.00 | \$27,370.00 | \$105.00 | \$24,990.00 |
| 34 | 42000070 | PAVEMENT CONNECTOR (HMA) FOR BRIDGE APPROACH SLAB | 89.0 | SQ YD | \$95.00 | \$8,455.00 | \$56.00 | \$4,984.00 | \$70.00 | \$6,230.00 | \$200.00 | \$17,800.00 | \$56.00 | \$4,984.00 |
| 35 | 42001300 | PROTECTIVE COAT | 60.0 | SQ YD | \$5.25 | \$315.00 | \$0.01 | \$0.60 | \$3.00 | \$180.00 | \$5.00 | \$300.00 | \$11.00 | \$660.00 |
| 36 | 42400200 | PORTLAND CEMENT CONCRETE SIDEWALK, 5 INCH | 115.0 | SQ FT | \$9.00 | \$1,035.00 | \$8.15 | \$937.25 | \$16.00 | \$1,840.00 | \$11.00 | \$1,265.00 | \$35.00 | \$4,025.00 |
| 37 | 42400800 | DETECTABLE WARNINGS | 20.0 | SQ FT | \$29.75 | \$595.00 | \$40.00 | \$800.00 | \$36.00 | \$720.00 | \$29.00 | \$580.00 | \$59.00 | \$1,180.00 |
| 38 | 44000100 | PAVEMENT REMOVAL | 1,780.0 | SQ YD | \$19.25 | \$34,265.00 | \$25.00 | \$44,500.00 | \$14.00 | \$24,920.00 | \$15.00 | \$26,700.00 | \$26.00 | \$46,280.00 |
| 39 | 44000200 | DRIVeway PAVEMENT REMOVAL | 181.0 | SQ YD | \$13.00 | \$2,353.00 | \$25.00 | \$4,525.00 | \$20.00 | \$3,620.00 | \$15.00 | \$2,715.00 | \$50.00 | \$9,050.00 |
| 40 | 44000500 | COMBINATION CURB AND GUTTER REMOVAL | 206.0 | FOOT | \$10.50 | \$2,163.00 | \$15.00 | \$3,090.00 | \$9.00 | \$1,854.00 | \$7.00 | \$1,442.00 | \$33.00 | \$6,798.00 |
| 41 | 44000600 | SIDEWALK REMOVAL | 60.0 | SQ FT | \$3.50 | \$210.00 | \$5.00 | \$300.00 | \$6.00 | \$360.00 | \$5.00 | \$300.00 | \$36.00 | \$2,160.00 |
| 42 | 44004000 | PAVED DITCH REMOVAL | 168.0 | FOOT | \$30.00 | \$5,040.00 | \$15.00 | \$2,520.00 | \$12.00 | \$2,016.00 | \$24.00 | \$4,032.00 | \$51.00 | \$8,568.00 |
| 43 | 44004250 | PAVED SHOULDER REMOVAL | 702.0 | SQ YD | \$16.00 | \$11,232.00 | \$25.00 | \$17,550.00 | \$12.00 | \$8,424.00 | \$20.00 | \$14,040.00 | \$34.00 | \$23,868.00 |
| 44 | 50100100 | REMOVAL OF EXISTING STRUCTURES | 1.0 | EACH | \$40,000.00 | \$40,000.00 | \$204,780.00 | \$204,780.00 | \$120,000.00 | \$120,000.00 | \$195,000.00 | \$195,000.00 | \$102,000.00 | \$102,000.00 |
| 45 | 50105220 | PIPE CULVERT REMOVAL | 29.0 | FOOT | \$25.00 | \$725.00 | \$30.00 | \$870.00 | \$21.00 | \$609.00 | \$50.00 | \$1,450.00 | \$23.00 | \$667.00 |
| 46 | 50200100 | STRUCTURE EXCAVATION | 365.0 | CU YD | \$45.00 | \$16,425.00 | \$18.00 | \$6,570.00 | \$20.00 | \$7,300.00 | \$59.00 | \$21,535.00 | \$77.00 | \$28,105.00 |

Return Bid Tabulation

Project: Hutchins Road at Mill Creek Bridge

Section: 17-00275-02-BR

Description: Replace existing culverts with bridge

CPMS Pin: B-01372A

Let Date: 3/12/2019

| Item No. | Pay Code | Description | Quantity | Unit | Eng Estimate | | Alliance Contractors, Inc. | | Lorig Construction Company | | Copenhaver Construction | | Rausch Infrastructure, LLC | |
|----------|----------|---|----------|-------|--------------|--------------|----------------------------|--------------|----------------------------|--------------|-------------------------|--------------|----------------------------|--------------|
| | | | | | Unit Price | Extnd. Price | Unit Price | Extnd. Price | Unit Price | Extnd. Price | Unit Price | Extnd. Price | Unit Price | Extnd. Price |
| 47 | 50300100 | FLOOR DRAINS | 3.0 | EACH | \$500.00 | \$1,500.00 | \$815.00 | \$2,445.00 | \$600.00 | \$1,800.00 | \$1,000.00 | \$3,000.00 | \$1,604.00 | \$4,812.00 |
| 48 | 50300225 | CONCRETE STRUCTURES | 74.6 | CU YD | \$900.00 | \$67,140.00 | \$1,140.00 | \$85,044.00 | \$775.00 | \$57,815.00 | \$1,120.00 | \$83,552.00 | \$1,100.00 | \$82,060.00 |
| 49 | 50300255 | CONCRETE SUPERSTRUCTURE | 111.0 | CU YD | \$1,100.00 | \$122,100.00 | \$2,050.00 | \$227,550.00 | \$1,200.00 | \$133,200.00 | \$1,200.00 | \$133,200.00 | \$1,100.00 | \$122,100.00 |
| 50 | 50300260 | BRIDGE DECK GROOVING | 512.0 | SQ YD | \$8.00 | \$4,096.00 | \$11.55 | \$5,913.60 | \$11.00 | \$5,632.00 | \$12.00 | \$6,144.00 | \$11.00 | \$5,632.00 |
| 51 | 50300285 | FORM LINER TEXTURED SURFACE | 421.0 | SQ FT | \$12.50 | \$5,262.50 | \$2.50 | \$1,052.50 | \$21.00 | \$8,841.00 | \$25.00 | \$10,525.00 | \$24.00 | \$10,104.00 |
| 52 | 50300300 | PROTECTIVE COAT | 597.0 | SQ YD | \$2.50 | \$1,492.50 | \$2.10 | \$1,253.70 | \$1.00 | \$597.00 | \$5.00 | \$2,985.00 | \$3.00 | \$1,791.00 |
| 53 | 50301350 | CONCRETE SUPERSTRUCTURE (APPROACH SLAB) | 107.0 | CU YD | \$375.00 | \$40,125.00 | \$650.00 | \$69,550.00 | \$425.00 | \$45,475.00 | \$800.00 | \$85,600.00 | \$716.00 | \$76,612.00 |
| 54 | 50500105 | FURNISHING AND ERECTING STRUCTURAL STEEL | 1.0 | L SUM | \$133,780.00 | \$133,780.00 | \$177,130.00 | \$177,130.00 | \$150,000.00 | \$150,000.00 | \$180,000.00 | \$180,000.00 | \$150,000.00 | \$150,000.00 |
| 55 | 50500505 | STUD SHEAR CONNECTORS | 1,224.0 | EACH | \$5.00 | \$6,120.00 | \$4.25 | \$5,202.00 | \$4.00 | \$4,896.00 | \$12.00 | \$14,688.00 | \$8.00 | \$9,792.00 |
| 56 | 50800205 | REINFORCEMENT BARS, EPOXY COATED | 81,450.0 | POUND | \$1.50 | \$122,175.00 | \$1.43 | \$116,473.50 | \$1.30 | \$105,885.00 | \$2.00 | \$162,900.00 | \$1.65 | \$134,392.50 |
| 57 | 51200958 | FURNISHING METAL SHELL PILES 14" X 0.25" | 756.0 | FOOT | \$55.00 | \$41,580.00 | \$84.00 | \$63,504.00 | \$61.00 | \$46,116.00 | \$92.00 | \$69,552.00 | \$100.00 | \$75,600.00 |
| 58 | 51202305 | DRIVING PILES | 756.0 | FOOT | \$1.00 | \$756.00 | \$1.00 | \$756.00 | \$1.00 | \$756.00 | \$1.00 | \$756.00 | \$1.00 | \$756.00 |
| 59 | 51203200 | TEST PILE METAL SHELLS | 2.0 | EACH | \$8,000.00 | \$16,000.00 | \$5,000.00 | \$10,000.00 | \$6,000.00 | \$12,000.00 | \$6,000.00 | \$12,000.00 | \$12,000.00 | \$24,000.00 |
| 60 | 51500100 | NAME PLATES | 1.0 | EACH | \$550.00 | \$550.00 | \$750.00 | \$750.00 | \$550.00 | \$550.00 | \$1,000.00 | \$1,000.00 | \$1,637.00 | \$1,637.00 |
| 61 | 52100520 | ANCHOR BOLTS, 1" | 24.0 | EACH | \$125.00 | \$3,000.00 | \$85.00 | \$2,040.00 | \$175.00 | \$4,200.00 | \$120.00 | \$2,880.00 | \$223.00 | \$5,352.00 |
| 62 | 54213657 | PRECAST REINFORCED CONCRETE FLARED END SECTIONS 12" | 1.0 | EACH | \$950.00 | \$950.00 | \$785.00 | \$785.00 | \$1,125.00 | \$1,125.00 | \$640.00 | \$640.00 | \$1,338.00 | \$1,338.00 |
| 63 | 54213660 | PRECAST REINFORCED CONCRETE FLARED END SECTIONS 15" | 3.0 | EACH | \$985.00 | \$2,955.00 | \$865.00 | \$2,595.00 | \$975.00 | \$2,925.00 | \$700.00 | \$2,100.00 | \$1,154.00 | \$3,462.00 |
| 64 | 54213669 | PRECAST REINFORCED CONCRETE FLARED END SECTIONS 24" | 2.0 | EACH | \$1,250.00 | \$2,500.00 | \$1,135.00 | \$2,270.00 | \$1,875.00 | \$3,750.00 | \$900.00 | \$1,800.00 | \$2,211.00 | \$4,422.00 |
| 65 | 54260315 | TRaversable PIPE GRATE FOR CONCRETE END SECTION | 19.0 | FOOT | \$75.00 | \$1,425.00 | \$86.50 | \$1,643.50 | \$135.00 | \$2,565.00 | \$50.00 | \$950.00 | \$152.00 | \$2,888.00 |
| 66 | 542A1060 | PIPE CULVERTS, CLASS A, TYPE 2 15" | 29.0 | FOOT | \$79.00 | \$2,291.00 | \$81.35 | \$2,359.15 | \$89.00 | \$2,581.00 | \$90.00 | \$2,610.00 | \$105.00 | \$3,045.00 |
| 67 | 550A0050 | STORM SEWERS, CLASS A, TYPE 1 12" | 29.0 | FOOT | \$79.00 | \$2,291.00 | \$78.45 | \$2,275.05 | \$95.00 | \$2,755.00 | \$90.00 | \$2,610.00 | \$111.00 | \$3,219.00 |

Return Bid Tabulation

Project: Hutchins Road at Mill Creek Bridge

Section: 17-00275-02-BR

Description: Replace existing culverts with bridge

CPMS Pin: B-01372A

Let Date: 3/12/2019

| Item No. | Pay Code | Description | Quantity | Unit | Eng Estimate | | Alliance Contractors, Inc. | | Lorig Construction Company | | Copenhaver Construction | | Rausch Infrastructure, LLC | |
|----------|----------|---|----------|-------|--------------|--------------|----------------------------|--------------|----------------------------|--------------|-------------------------|--------------|----------------------------|--------------|
| | | | | | Unit Price | Extnd. Price | Unit Price | Extnd. Price | Unit Price | Extnd. Price | Unit Price | Extnd. Price | Unit Price | Extnd. Price |
| 68 | 550A0070 | STORM SEWERS, CLASS A, TYPE 1 15" | 6.0 | FOOT | \$79.00 | \$474.00 | \$81.05 | \$486.30 | \$260.00 | \$1,560.00 | \$100.00 | \$600.00 | \$304.00 | \$1,824.00 |
| 69 | 550A0340 | STORM SEWERS, CLASS A, TYPE 2 12" | 28.0 | FOOT | \$48.00 | \$1,344.00 | \$78.45 | \$2,196.60 | \$100.00 | \$2,800.00 | \$95.00 | \$2,660.00 | \$115.00 | \$3,220.00 |
| 70 | 550A0410 | STORM SEWERS, CLASS A, TYPE 2 24" | 81.0 | FOOT | \$72.00 | \$5,832.00 | \$91.05 | \$7,375.05 | \$83.00 | \$6,723.00 | \$96.00 | \$7,776.00 | \$97.00 | \$7,857.00 |
| 71 | 550A4100 | STORM SEWERS, CLASS A, TYPE 1 EQUIVALENT ROUND-SIZE 24" | 171.0 | FOOT | \$75.00 | \$12,825.00 | \$95.80 | \$16,381.80 | \$81.00 | \$13,851.00 | \$120.00 | \$20,520.00 | \$94.00 | \$16,074.00 |
| 72 | 55100500 | STORM SEWER REMOVAL 12" | 89.0 | FOOT | \$5.50 | \$489.50 | \$20.00 | \$1,780.00 | \$15.00 | \$1,335.00 | \$15.00 | \$1,335.00 | \$17.00 | \$1,513.00 |
| 73 | 56100600 | WATER MAIN 6" | 90.0 | FOOT | \$66.00 | \$5,940.00 | \$320.00 | \$28,800.00 | \$250.00 | \$22,500.00 | \$75.00 | \$6,750.00 | \$289.00 | \$26,010.00 |
| 74 | 56104900 | WATER VALVES 6" | 1.0 | EACH | \$795.00 | \$795.00 | \$3,950.00 | \$3,950.00 | \$4,300.00 | \$4,300.00 | \$1,200.00 | \$1,200.00 | \$5,057.00 | \$5,057.00 |
| 75 | 56400825 | FIRE HYDRANT WITH AUXILIARY VALVE, VALVE BOX AND TEE | 2.0 | EACH | \$8,750.00 | \$17,500.00 | \$7,650.00 | \$15,300.00 | \$6,800.00 | \$13,600.00 | \$6,400.00 | \$12,800.00 | \$7,846.00 | \$15,692.00 |
| 76 | 58600101 | GRANULAR BACKFILL FOR STRUCTURES | 164.0 | CU YD | \$75.00 | \$12,300.00 | \$42.00 | \$6,888.00 | \$75.00 | \$12,300.00 | \$45.00 | \$7,380.00 | \$108.00 | \$17,712.00 |
| 77 | 59100100 | GEOCOMPOSITE WALL DRAIN | 64.0 | SQ YD | \$28.00 | \$1,792.00 | \$35.00 | \$2,240.00 | \$21.00 | \$1,344.00 | \$30.00 | \$1,920.00 | \$117.00 | \$7,488.00 |
| 78 | 60108104 | PIPE UNDERDRAINS, TYPE 1, 4" | 444.0 | FOOT | \$20.00 | \$8,880.00 | \$1.85 | \$821.40 | \$44.00 | \$19,536.00 | \$15.00 | \$6,660.00 | \$51.00 | \$22,644.00 |
| 79 | 60219540 | MANHOLES, TYPE A, 4'-DIAMETER, TYPE 24 FRAME AND GRATE | 1.0 | EACH | \$3,100.00 | \$3,100.00 | \$3,065.00 | \$3,065.00 | \$4,200.00 | \$4,200.00 | \$2,700.00 | \$2,700.00 | \$4,921.00 | \$4,921.00 |
| 80 | 60221100 | MANHOLES, TYPE A, 5'-DIAMETER, TYPE 1 FRAME, CLOSED LID | 3.0 | EACH | \$3,400.00 | \$10,200.00 | \$4,165.00 | \$12,495.00 | \$3,800.00 | \$11,400.00 | \$3,000.00 | \$9,000.00 | \$4,482.00 | \$13,446.00 |
| 81 | 60248700 | VALVE VAULTS, TYPE A, 4'-DIAMETER, TYPE 1 FRAME, CLOSED LID | 1.0 | EACH | \$3,200.00 | \$3,200.00 | \$3,065.00 | \$3,065.00 | \$2,125.00 | \$2,125.00 | \$2,900.00 | \$2,900.00 | \$2,510.00 | \$2,510.00 |
| 82 | 60248900 | VALVE VAULTS, TYPE A, 5'-DIAMETER, TYPE 1 FRAME, CLOSED LID | 2.0 | EACH | \$3,600.00 | \$7,200.00 | \$4,165.00 | \$8,330.00 | \$2,900.00 | \$5,800.00 | \$3,400.00 | \$6,800.00 | \$3,443.00 | \$6,886.00 |
| 83 | 60255500 | MANHOLES TO BE ADJUSTED | 2.0 | EACH | \$395.00 | \$790.00 | \$500.00 | \$1,000.00 | \$950.00 | \$1,900.00 | \$700.00 | \$1,400.00 | \$1,117.00 | \$2,234.00 |
| 84 | 60265700 | VALVE VAULTS TO BE ADJUSTED | 2.0 | EACH | \$325.00 | \$650.00 | \$500.00 | \$1,000.00 | \$1,000.00 | \$2,000.00 | \$600.00 | \$1,200.00 | \$1,172.00 | \$2,344.00 |
| 85 | 60603800 | COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.12 | 63.0 | FOOT | \$29.00 | \$1,827.00 | \$30.00 | \$1,890.00 | \$36.00 | \$2,268.00 | \$27.00 | \$1,701.00 | \$71.00 | \$4,473.00 |
| 86 | 60605000 | COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24 | 144.0 | FOOT | \$35.00 | \$5,040.00 | \$42.00 | \$6,048.00 | \$40.00 | \$5,760.00 | \$27.00 | \$3,888.00 | \$71.00 | \$10,224.00 |
| 87 | 63100085 | TRAFFIC BARRIER TERMINAL, TYPE 6 | 3.0 | EACH | \$2,400.00 | \$7,200.00 | \$3,485.00 | \$10,455.00 | \$3,500.00 | \$10,500.00 | \$3,400.00 | \$10,200.00 | \$3,704.00 | \$11,112.00 |

Return Bid Tabulation

Project: Hutchins Road at Mill Creek Bridge

Section: 17-00275-02-BR

Description: Replace existing culverts with bridge

CPMS Pin: B-01372A

Let Date: 3/12/2019

| Item No. | Pay Code | Description | Quantity | Unit | Eng Estimate | | Alliance Contractors, Inc. | | Lorig Construction Company | | Copenhaver Construction | | Rausch Infrastructure, LLC | |
|----------|----------|--|----------|--------|--------------|--------------|----------------------------|--------------|----------------------------|--------------|-------------------------|--------------|----------------------------|--------------|
| | | | | | Unit Price | Extnd. Price | Unit Price | Extnd. Price | Unit Price | Extnd. Price | Unit Price | Extnd. Price | Unit Price | Extnd. Price |
| 88 | 63100167 | TRAFFIC BARRIER TERMINAL, TYPE 1 SPECIAL (TANGENT) | 3.0 | EACH | \$3,500.00 | \$10,500.00 | \$2,880.00 | \$8,640.00 | \$2,900.00 | \$8,700.00 | \$3,300.00 | \$9,900.00 | \$3,585.00 | \$10,755.00 |
| 89 | 63200310 | GUARDRAIL REMOVAL | 519.0 | FOOT | \$9.50 | \$4,930.50 | \$4.96 | \$2,574.24 | \$5.00 | \$2,595.00 | \$5.00 | \$2,595.00 | \$12.00 | \$6,228.00 |
| 90 | 67100100 | MOBILIZATION | 1.0 | L SUM | \$75,000.00 | \$75,000.00 | \$98,000.00 | \$98,000.00 | \$75,000.00 | \$75,000.00 | \$90,000.00 | \$90,000.00 | \$117,000.00 | \$117,000.00 |
| 91 | 72400500 | RELOCATE SIGN PANEL ASSEMBLY - TYPE A | 3.0 | EACH | \$475.00 | \$1,425.00 | \$125.00 | \$375.00 | \$125.00 | \$375.00 | \$200.00 | \$600.00 | \$149.00 | \$447.00 |
| 92 | 78000200 | THERMOPLASTIC PAVEMENT MARKING - LINE 4" | 962.0 | FOOT | \$1.10 | \$1,058.20 | \$1.45 | \$1,394.90 | \$1.45 | \$1,394.90 | \$2.00 | \$1,924.00 | \$2.10 | \$2,020.20 |
| 93 | 78000300 | THERMOPLASTIC PAVEMENT MARKING - LINE 5" | 962.0 | FOOT | \$2.50 | \$2,405.00 | \$2.15 | \$2,068.30 | \$2.15 | \$2,068.30 | \$3.00 | \$2,886.00 | \$2.65 | \$2,549.30 |
| 94 | 78000600 | THERMOPLASTIC PAVEMENT MARKING - LINE 12" | 66.0 | FOOT | \$5.10 | \$336.60 | \$5.85 | \$386.10 | \$6.00 | \$396.00 | \$8.00 | \$528.00 | \$6.30 | \$415.80 |
| 95 | 78009004 | MODIFIED URETHANE PAVEMENT MARKING - LINE 4" | 286.0 | FOOT | \$2.60 | \$743.60 | \$6.50 | \$1,859.00 | \$6.50 | \$1,859.00 | \$6.00 | \$1,716.00 | \$6.00 | \$1,716.00 |
| 96 | 78009005 | MODIFIED URETHANE PAVEMENT MARKING - LINE 5" | 286.0 | FOOT | \$2.90 | \$829.40 | \$9.75 | \$2,788.50 | \$10.00 | \$2,860.00 | \$7.00 | \$2,002.00 | \$7.20 | \$2,059.20 |
| 97 | LC200051 | REJECTED LOAD TRANSPORTATION | 5.0 | LOAD | \$1,500.00 | \$7,500.00 | \$500.00 | \$2,500.00 | \$400.00 | \$2,000.00 | \$50.00 | \$250.00 | \$1,022.00 | \$5,110.00 |
| 98 | LC200501 | MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS | 5,888.0 | UNIT | \$1.00 | \$5,888.00 | \$1.00 | \$5,888.00 | \$1.00 | \$5,888.00 | \$1.00 | \$5,888.00 | \$1.00 | \$5,888.00 |
| 99 | LC600200 | INSTALL SURVEY MONUMENTS | 1.0 | EACH | \$5,000.00 | \$5,000.00 | \$800.00 | \$800.00 | \$1,500.00 | \$1,500.00 | \$1,500.00 | \$1,500.00 | \$956.00 | \$956.00 |
| 100 | X5030290 | STAINING CONCRETE STRUCTURES | 421.0 | SQ YD | \$5.00 | \$2,105.00 | \$7.50 | \$3,157.50 | \$1.00 | \$421.00 | \$60.00 | \$25,260.00 | \$43.00 | \$18,103.00 |
| 101 | X5610656 | WATER MAIN TO BE ABANDONED, 6" | 155.0 | FOOT | \$22.00 | \$3,410.00 | \$20.00 | \$3,100.00 | \$20.00 | \$3,100.00 | \$55.00 | \$8,525.00 | \$22.00 | \$3,410.00 |
| 102 | X5630006 | CUT AND CAP EXISTING WATER MAIN | 2.0 | EACH | \$3,900.00 | \$7,800.00 | \$4,500.00 | \$9,000.00 | \$1,900.00 | \$3,800.00 | \$700.00 | \$1,400.00 | \$2,266.00 | \$4,532.00 |
| 103 | X6026050 | SANITARY MANHOLES TO BE ADJUSTED | 3.0 | EACH | \$925.00 | \$2,775.00 | \$900.00 | \$2,700.00 | \$1,200.00 | \$3,600.00 | \$700.00 | \$2,100.00 | \$1,426.00 | \$4,278.00 |
| 104 | X6026624 | VALVE BOXES TO BE ADJUSTED (SPECIAL) | 1.0 | EACH | \$500.00 | \$500.00 | \$600.00 | \$600.00 | \$1,250.00 | \$1,250.00 | \$700.00 | \$700.00 | \$1,426.00 | \$1,426.00 |
| 105 | X6700405 | ENGINEER'S FIELD OFFICE, TYPE A (MODIFIED) | 9.0 | CAL MO | \$2,500.00 | \$22,500.00 | \$500.00 | \$4,500.00 | \$2,600.00 | \$23,400.00 | \$1,500.00 | \$13,500.00 | \$5,281.00 | \$47,529.00 |
| 106 | X7010216 | TRAFFIC CONTROL AND PROTECTION (SPECIAL) | 1.0 | L SUM | \$30,000.00 | \$30,000.00 | \$4,000.00 | \$4,000.00 | \$5,000.00 | \$5,000.00 | \$135,000.00 | \$135,000.00 | \$836.00 | \$836.00 |

Return Bid Tabulation

Project: Hutchins Road at Mill Creek Bridge

Section: 17-00275-02-BR

Description: Replace existing culverts with bridge

CPMS Pin: B-01372A

Let Date: 3/12/2019

| Item No. | Pay Code | Description | Quantity | Unit | Eng Estimate | | Alliance Contractors, Inc. | | Lorig Construction Company | | Copenhaver Construction | | Rausch Infrastructure, LLC | |
|------------------|----------|--|----------|-------|-----------------------|--------------|----------------------------|--------------|----------------------------|--------------|-------------------------|--------------|----------------------------|--------------|
| | | | | | Unit Price | Extnd. Price | Unit Price | Extnd. Price | Unit Price | Extnd. Price | Unit Price | Extnd. Price | Unit Price | Extnd. Price |
| 107 | X7810300 | RECESSED REFLECTIVE PAVEMENT MARKER | 28.0 | EACH | \$45.00 | \$1,260.00 | \$69.50 | \$1,946.00 | \$71.00 | \$1,988.00 | \$135.00 | \$3,780.00 | \$149.00 | \$4,172.00 |
| 108 | X7830070 | GROOVING FOR RECESSED PAVEMENT MARKING 5" | 962.0 | FOOT | \$1.00 | \$962.00 | \$1.00 | \$962.00 | \$1.00 | \$962.00 | \$2.00 | \$1,924.00 | \$1.80 | \$1,731.60 |
| 109 | X7830072 | GROOVING FOR RECESSED PAVEMENT MARKING 6" | 913.0 | FOOT | \$1.50 | \$1,369.50 | \$1.25 | \$1,141.25 | \$1.25 | \$1,141.25 | \$2.00 | \$1,826.00 | \$2.10 | \$1,917.30 |
| 110 | X7830078 | GROOVING FOR RECESSED PAVEMENT MARKING 13" | 66.0 | FOOT | \$3.00 | \$198.00 | \$12.50 | \$825.00 | \$12.50 | \$825.00 | \$4.00 | \$264.00 | \$3.60 | \$237.60 |
| 111 | XX001249 | ORNAMENTAL FENCE | 32.0 | FOOT | \$225.00 | \$7,200.00 | \$88.95 | \$2,846.40 | \$90.00 | \$2,880.00 | \$150.00 | \$4,800.00 | \$161.00 | \$5,152.00 |
| 112 | Z0013797 | STABILIZED CONSTRUCTION ENTRANCE | 150.0 | SQ.YD | \$17.00 | \$2,550.00 | \$1.00 | \$150.00 | \$5.00 | \$750.00 | \$20.00 | \$3,000.00 | \$167.00 | \$25,050.00 |
| 113 | Z0013798 | CONSTRUCTION LAYOUT | 1.0 | L.SUM | \$25,000.00 | \$25,000.00 | \$2,770.00 | \$2,770.00 | \$17,750.00 | \$17,750.00 | \$27,000.00 | \$27,000.00 | \$16,000.00 | \$16,000.00 |
| 114 | Z0016702 | DETOUR SIGNING | 1.0 | L.SUM | \$15,000.00 | \$15,000.00 | \$10,000.00 | \$10,000.00 | \$15,000.00 | \$15,000.00 | \$19,000.00 | \$19,000.00 | \$16,371.00 | \$16,371.00 |
| 115 | Z0022800 | FENCE REMOVAL | 98.0 | FOOT | \$5.95 | \$583.10 | \$4.85 | \$475.30 | \$5.00 | \$490.00 | \$6.00 | \$588.00 | \$8.40 | \$823.20 |
| 116 | Z0044600 | PRESSURE CONNECTION 6"X10" | 2.0 | EACH | \$6,500.00 | \$13,000.00 | \$7,500.00 | \$15,000.00 | \$6,400.00 | \$12,800.00 | \$6,000.00 | \$12,000.00 | \$7,555.00 | \$15,110.00 |
| 117 | Z0046304 | PIPE UNDERDRAINS FOR STRUCTURES 4" | 134.0 | FOOT | \$24.00 | \$3,216.00 | \$25.00 | \$3,350.00 | \$46.00 | \$6,164.00 | \$15.00 | \$2,010.00 | \$82.00 | \$10,988.00 |
| 118 | Z0062450 | SAWING PAVEMENT (FULL DEPTH) | 70.0 | FOOT | \$10.00 | \$700.00 | \$2.50 | \$175.00 | \$5.00 | \$350.00 | \$10.00 | \$700.00 | \$9.00 | \$630.00 |
| 119 | Z0073510 | TEMPORARY TRAFFIC SIGNAL TIMING | 4.0 | EACH | \$950.00 | \$3,800.00 | \$2,500.00 | \$10,000.00 | \$9,000.00 | \$36,000.00 | \$300.00 | \$1,200.00 | \$1,500.00 | \$6,000.00 |
| Bid Total | | | | | \$1,343,202.85 | | \$1,634,659.65 | | \$1,467,849.51 | | \$1,852,829.63 | | \$1,962,139.26 | |

Return Bid Details

Project: Hutchins Road at Mill Creek Bridge

Section: 17-00275-02-BR

Description: Replace existing culverts with bridge

CPMS Pin: B-01372A

Let Date: 3/12/2019

| Item No. | Pay Code | Description | Quantity | Unit | Eng Estimate | | Min. Bid Price | Max. Bid Price | Avg. Bid Price |
|----------|----------|--|----------|-------|--------------|--------------|----------------|----------------|----------------|
| | | | | | Unit Price | Extnd. Price | | | |
| 1 | 20101100 | TREE TRUNK PROTECTION | 3.0 | EACH | \$75.00 | \$225.00 | \$30.00 | \$268.00 | \$150.75 |
| 2 | 20101200 | TREE ROOT PRUNING | 2.0 | EACH | \$130.00 | \$260.00 | \$30.00 | \$298.00 | \$182.00 |
| 3 | 20100210 | TREE REMOVAL (OVER 15 UNITS DIAMETER) | 18.0 | UNIT | \$29.00 | \$522.00 | \$50.00 | \$65.00 | \$56.25 |
| 4 | 20200100 | EARTH EXCAVATION | 516.0 | CU YD | \$28.00 | \$14,448.00 | \$12.00 | \$58.00 | \$39.00 |
| 5 | 20201200 | REMOVAL AND DISPOSAL OF UNSUITABLE MATERIAL | 141.0 | CU YD | \$25.00 | \$3,525.00 | \$12.00 | \$75.00 | \$48.75 |
| 6 | 20300100 | CHANNEL EXCAVATION | 775.0 | CU YD | \$30.00 | \$23,250.00 | \$18.00 | \$75.00 | \$55.50 |
| 7 | 20400800 | FURNISHED EXCAVATION | 512.0 | CU YD | \$30.00 | \$15,360.00 | \$1.00 | \$107.00 | \$30.25 |
| 8 | 20800150 | TRENCH BACKFILL | 36.0 | CU YD | \$65.00 | \$2,340.00 | \$40.00 | \$76.00 | \$64.25 |
| 9 | 21001000 | GEOTECHNICAL FABRIC FOR GROUND STABILIZATION | 2,147.0 | SQ YD | \$2.00 | \$4,294.00 | \$1.00 | \$9.00 | \$3.38 |
| 10 | 21101615 | TOPSOIL FURNISH AND PLACE, 4" | 2,014.0 | SQ YD | \$5.20 | \$10,472.80 | \$0.10 | \$8.00 | \$3.30 |
| 11 | 21301052 | EXPLORATION TRENCH 52" DEPTH | 25.0 | FOOT | \$250.00 | \$6,250.00 | \$15.00 | \$353.00 | \$120.75 |
| 12 | 25000210 | SEEDING, CLASS 2A | 0.3 | ACRE | \$5,500.00 | \$1,650.00 | \$4,780.00 | \$25,000.00 | \$18,945.00 |
| 13 | 25000314 | SEEDING, CLASS 4B | 0.0 | ACRE | \$6,500.00 | \$65.00 | \$25,000.00 | \$50,000.00 | \$38,718.75 |
| 14 | 25000400 | NITROGEN FERTILIZER NUTRIENT | 37.0 | POUND | \$3.10 | \$114.70 | \$1.00 | \$3.60 | \$1.65 |
| 15 | 25000600 | POTASSIUM FERTILIZER NUTRIENT | 37.0 | POUND | \$3.10 | \$114.70 | \$1.00 | \$3.60 | \$1.65 |
| 16 | 25100630 | EROSION CONTROL BLANKET | 1,437.0 | SQ YD | \$4.00 | \$5,748.00 | \$1.80 | \$5.00 | \$3.41 |
| 17 | 25200110 | SODDING, SALT TOLERANT | 492.0 | SQ YD | \$8.75 | \$4,305.00 | \$9.00 | \$17.00 | \$12.50 |

Return Bid Details

Project: Hutchins Road at Mill Creek Bridge

Section: 17-00275-02-BR

Description: Replace existing culverts with bridge

CPMS Pin: B-01372A

Let Date: 3/12/2019

| Item No. | Pay Code | Description | Quantity | Unit | Eng Estimate | | Min. Bid Price | Max. Bid Price | Avg. Bid Price |
|----------|----------|---|----------|-------|--------------|--------------|----------------|----------------|----------------|
| | | | | | Unit Price | Extnd. Price | | | |
| 18 | 28000250 | TEMPORARY EROSION CONTROL SEEDING | 63.0 | POUND | \$3.50 | \$220.50 | \$0.01 | \$7.00 | \$4.25 |
| 19 | 28000305 | TEMPORARY DITCH CHECKS | 165.0 | FOOT | \$14.50 | \$2,392.50 | \$13.00 | \$16.00 | \$14.25 |
| 20 | 28000400 | PERIMETER EROSION BARRIER | 1,184.0 | FOOT | \$3.50 | \$4,144.00 | \$2.00 | \$4.00 | \$3.13 |
| 21 | 28000510 | INLET FILTERS | 1.0 | EACH | \$130.00 | \$130.00 | \$25.00 | \$358.00 | \$183.25 |
| 22 | 28001100 | TEMPORARY EROSION CONTROL BLANKET | 3,069.0 | SQ YD | \$1.50 | \$4,603.50 | \$0.10 | \$1.45 | \$0.66 |
| 23 | 28100107 | STONE RIPRAP, CLASS A4 | 485.0 | SQ YD | \$95.00 | \$46,075.00 | \$80.00 | \$157.00 | \$106.50 |
| 24 | 28200200 | FILTER FABRIC | 485.0 | SQ YD | \$5.00 | \$2,425.00 | \$1.00 | \$18.00 | \$6.63 |
| 25 | 30300001 | AGGREGATE SUBGRADE IMPROVEMENT | 82.0 | CU YD | \$38.00 | \$3,116.00 | \$42.00 | \$156.00 | \$80.50 |
| 26 | 30300112 | AGGREGATE SUBGRADE IMPROVEMENT 12" | 1,809.0 | SQ YD | \$15.00 | \$27,135.00 | \$14.00 | \$30.00 | \$22.00 |
| 27 | 35101800 | AGGREGATE BASE COURSE, TYPE B, 6" | 161.0 | SQ YD | \$8.25 | \$1,328.25 | \$9.00 | \$31.00 | \$16.86 |
| 28 | 35102000 | AGGREGATE BASE COURSE, TYPE B, 8" | 136.0 | SQ YD | \$28.00 | \$3,808.00 | \$11.00 | \$38.00 | \$20.98 |
| 29 | 40201000 | AGGREGATE FOR TEMPORARY ACCESS | 54.0 | TON | \$30.00 | \$1,620.00 | \$15.00 | \$99.00 | \$45.25 |
| 30 | 40600275 | BITUMINOUS MATERIALS (PRIME COAT) | 481.0 | POUND | \$0.75 | \$360.75 | \$0.01 | \$1.00 | \$0.26 |
| 31 | 40600290 | BITUMINOUS MATERIALS (TACK COAT) | 395.0 | POUND | \$1.05 | \$414.75 | \$0.01 | \$1.00 | \$0.26 |
| 32 | 40603080 | HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N50 | 688.0 | TON | \$85.00 | \$58,480.00 | \$82.60 | \$87.00 | \$84.65 |

Return Bid Details

Project: Hutchins Road at Mill Creek Bridge

Section: 17-00275-02-BR

Description: Replace existing culverts with bridge

CPMS Pin: B-01372A

Let Date: 3/12/2019

| Item No. | Pay Code | Description | Quantity | Unit | Eng Estimate | | Min. Bid Price | Max. Bid Price | Avg. Bid Price |
|----------|-----------|---|----------|-------|--------------|--------------|----------------|----------------|----------------|
| | | | | | Unit Price | Extnd. Price | | | |
| 33 | 40603335 | HOT-MIX ASPHALT SURFACE COURSE, MIX "D", N50 | 238.0 | TON | \$110.00 | \$26,180.00 | \$105.00 | \$115.00 | \$108.75 |
| 34 | 420000070 | PAVEMENT CONNECTOR (HMA) FOR BRIDGE APPROACH SLAB | 89.0 | SQ YD | \$95.00 | \$8,455.00 | \$56.00 | \$200.00 | \$95.50 |
| 35 | 42001300 | PROTECTIVE COAT | 60.0 | SQ YD | \$5.25 | \$315.00 | \$0.01 | \$11.00 | \$4.75 |
| 36 | 42400200 | PORTLAND CEMENT CONCRETE SIDEWALK, 5 INCH | 115.0 | SQ FT | \$9.00 | \$1,035.00 | \$8.15 | \$35.00 | \$17.54 |
| 37 | 42400800 | DETECTABLE WARNINGS | 20.0 | SQ FT | \$29.75 | \$595.00 | \$29.00 | \$59.00 | \$41.00 |
| 38 | 44000100 | PAVEMENT REMOVAL | 1,780.0 | SQ YD | \$19.25 | \$34,265.00 | \$14.00 | \$26.00 | \$20.00 |
| 39 | 44000200 | DRIVeway PAVEMENT REMOVAL | 181.0 | SQ YD | \$13.00 | \$2,353.00 | \$15.00 | \$50.00 | \$27.50 |
| 40 | 44000500 | COMBINATION CURB AND GUTTER REMOVAL | 206.0 | FOOT | \$10.50 | \$2,163.00 | \$7.00 | \$33.00 | \$16.00 |
| 41 | 44000600 | SIDEWALK REMOVAL | 60.0 | SQ FT | \$3.50 | \$210.00 | \$5.00 | \$36.00 | \$13.00 |
| 42 | 44004000 | PAVED DITCH REMOVAL | 168.0 | FOOT | \$30.00 | \$5,040.00 | \$12.00 | \$51.00 | \$25.50 |
| 43 | 44004250 | PAVED SHOULDER REMOVAL | 702.0 | SQ YD | \$16.00 | \$11,232.00 | \$12.00 | \$34.00 | \$22.75 |
| 44 | 50100100 | REMOVAL OF EXISTING STRUCTURES | 1.0 | EACH | \$40,000.00 | \$40,000.00 | \$102,000.00 | \$204,780.00 | \$155,445.00 |
| 45 | 50105220 | PIPE CULVERT REMOVAL | 29.0 | FOOT | \$25.00 | \$725.00 | \$21.00 | \$50.00 | \$31.00 |
| 46 | 50200100 | STRUCTURE EXCAVATION | 365.0 | CU YD | \$45.00 | \$16,425.00 | \$18.00 | \$77.00 | \$43.50 |
| 47 | 50300100 | FLOOR DRAINS | 3.0 | EACH | \$500.00 | \$1,500.00 | \$600.00 | \$1,604.00 | \$1,004.75 |
| 48 | 50300225 | CONCRETE STRUCTURES | 74.6 | CU YD | \$900.00 | \$67,140.00 | \$775.00 | \$1,140.00 | \$1,033.75 |

Return Bid Details

Project: Hutchins Road at Mill Creek Bridge

Section: 17-00275-02-BR

Description: Replace existing culverts with bridge

CPMS Pin: B-01372A

Let Date: 3/12/2019

| Item No. | Pay Code | Description | Quantity | Unit | Eng Estimate | | Min. Bid Price | Max. Bid Price | Avg. Bid Price |
|----------|----------|---|----------|-------|--------------|--------------|----------------|----------------|----------------|
| | | | | | Unit Price | Extnd. Price | | | |
| 49 | 50300255 | CONCRETE SUPERSTRUCTURE | 111.0 | CU YD | \$1,100.00 | \$122,100.00 | \$1,100.00 | \$2,050.00 | \$1,387.50 |
| 50 | 50300260 | BRIDGE DECK GROOVING | 512.0 | SQ YD | \$8.00 | \$4,096.00 | \$11.00 | \$12.00 | \$11.39 |
| 51 | 50300285 | FORM LINER TEXTURED SURFACE | 421.0 | SQ FT | \$12.50 | \$5,262.50 | \$2.50 | \$25.00 | \$18.13 |
| 52 | 50300300 | PROTECTIVE COAT | 597.0 | SQ YD | \$2.50 | \$1,492.50 | \$1.00 | \$5.00 | \$2.78 |
| 53 | 50301350 | CONCRETE SUPERSTRUCTURE (APPROACH SLAB) | 107.0 | CU YD | \$375.00 | \$40,125.00 | \$425.00 | \$800.00 | \$647.75 |
| 54 | 50500105 | FURNISHING AND ERECTING STRUCTURAL STEEL | 1.0 | L SUM | \$133,780.00 | \$133,780.00 | \$150,000.00 | \$180,000.00 | \$164,282.50 |
| 55 | 50500505 | STUD SHEAR CONNECTORS | 1,224.0 | EACH | \$5.00 | \$6,120.00 | \$4.00 | \$12.00 | \$7.06 |
| 56 | 50800205 | REINFORCEMENT BARS, EPOXY COATED | 81,450.0 | POUND | \$1.50 | \$122,175.00 | \$1.30 | \$2.00 | \$1.60 |
| 57 | 51200958 | FURNISHING METAL SHELL PILES 14" X 0.25" | 756.0 | FOOT | \$55.00 | \$41,580.00 | \$61.00 | \$100.00 | \$84.25 |
| 58 | 51202305 | DRIVING PILES | 756.0 | FOOT | \$1.00 | \$756.00 | \$1.00 | \$1.00 | \$1.00 |
| 59 | 51203200 | TEST PILE METAL SHELLS | 2.0 | EACH | \$8,000.00 | \$16,000.00 | \$5,000.00 | \$12,000.00 | \$7,250.00 |
| 60 | 51500100 | NAME PLATES | 1.0 | EACH | \$550.00 | \$550.00 | \$550.00 | \$1,637.00 | \$984.25 |
| 61 | 52100520 | ANCHOR BOLTS, 1" | 24.0 | EACH | \$125.00 | \$3,000.00 | \$85.00 | \$223.00 | \$150.75 |
| 62 | 54213657 | PRECAST REINFORCED CONCRETE FLARED END SECTIONS 12" | 1.0 | EACH | \$950.00 | \$950.00 | \$640.00 | \$1,338.00 | \$972.00 |
| 63 | 54213660 | PRECAST REINFORCED CONCRETE FLARED END SECTIONS 15" | 3.0 | EACH | \$985.00 | \$2,955.00 | \$700.00 | \$1,154.00 | \$923.50 |

Return Bid Details

Project: Hutchins Road at Mill Creek Bridge

Section: 17-00275-02-BR

Description: Replace existing culverts with bridge

CPMS Pin: B-01372A

Let Date: 3/12/2019

| Item No. | Pay Code | Description | Quantity | Unit | Eng Estimate | | Min. Bid Price | Max. Bid Price | Avg. Bid Price |
|----------|----------|---|----------|-------|--------------|--------------|----------------|----------------|----------------|
| | | | | | Unit Price | Extnd. Price | | | |
| 64 | 54213669 | PRECAST REINFORCED CONCRETE FLARED END SECTIONS 24" | 2.0 | EACH | \$1,250.00 | \$2,500.00 | \$900.00 | \$2,211.00 | \$1,530.25 |
| 65 | 54260315 | TRAVERSABLE PIPE GRATE FOR CONCRETE END SECTION | 19.0 | FOOT | \$75.00 | \$1,425.00 | \$50.00 | \$152.00 | \$105.88 |
| 66 | 542A1060 | PIPE CULVERTS, CLASS A, TYPE 2 15" | 29.0 | FOOT | \$79.00 | \$2,291.00 | \$81.35 | \$105.00 | \$91.34 |
| 67 | 550A0050 | STORM SEWERS, CLASS A, TYPE 1 12" | 29.0 | FOOT | \$79.00 | \$2,291.00 | \$78.45 | \$111.00 | \$93.61 |
| 68 | 550A0070 | STORM SEWERS, CLASS A, TYPE 1 15" | 6.0 | FOOT | \$79.00 | \$474.00 | \$81.05 | \$304.00 | \$186.26 |
| 69 | 550A0340 | STORM SEWERS, CLASS A, TYPE 2 12" | 28.0 | FOOT | \$48.00 | \$1,344.00 | \$78.45 | \$115.00 | \$97.11 |
| 70 | 550A0410 | STORM SEWERS, CLASS A, TYPE 2 24" | 81.0 | FOOT | \$72.00 | \$5,832.00 | \$83.00 | \$97.00 | \$91.76 |
| 71 | 550A4100 | STORM SEWERS, CLASS A, TYPE 1 EQUIVALENT ROUND-SIZE 24" | 171.0 | FOOT | \$75.00 | \$12,825.00 | \$81.00 | \$120.00 | \$97.70 |
| 72 | 55100500 | STORM SEWER REMOVAL 12" | 89.0 | FOOT | \$5.50 | \$489.50 | \$15.00 | \$20.00 | \$16.75 |
| 73 | 56100600 | WATER MAIN 6" | 90.0 | FOOT | \$66.00 | \$5,940.00 | \$75.00 | \$320.00 | \$233.50 |
| 74 | 56104900 | WATER VALVES 6" | 1.0 | EACH | \$795.00 | \$795.00 | \$1,200.00 | \$5,057.00 | \$3,626.75 |
| 75 | 56400825 | FIRE HYDRANT WITH AUXILIARY VALVE, VALVE BOX AND TEE | 2.0 | EACH | \$8,750.00 | \$17,500.00 | \$6,400.00 | \$7,846.00 | \$7,174.00 |
| 76 | 58600101 | GRANULAR BACKFILL FOR STRUCTURES | 164.0 | CU YD | \$75.00 | \$12,300.00 | \$42.00 | \$108.00 | \$67.50 |
| 77 | 59100100 | GEOCOMPOSITE WALL DRAIN | 64.0 | SQ YD | \$28.00 | \$1,792.00 | \$21.00 | \$117.00 | \$50.75 |

Return Bid Details

Project: Hutchins Road at Mill Creek Bridge

Section: 17-00275-02-BR

Description: Replace existing culverts with bridge

CPMS Pin: B-01372A

Let Date: 3/12/2019

| Item No. | Pay Code | Description | Quantity | Unit | Eng Estimate | | Min. Bid Price | Max. Bid Price | Avg. Bid Price |
|----------|----------|---|----------|-------|--------------|--------------|----------------|----------------|----------------|
| | | | | | Unit Price | Extnd. Price | | | |
| 78 | 60108104 | PIPE UNDERDRAINS, TYPE 1, 4" | 444.0 | FOOT | \$20.00 | \$8,880.00 | \$1.85 | \$51.00 | \$27.96 |
| 79 | 60219540 | MANHOLES, TYPE A, 4'-DIAMETER, TYPE 24 FRAME AND GRATE | 1.0 | EACH | \$3,100.00 | \$3,100.00 | \$2,700.00 | \$4,921.00 | \$3,721.50 |
| 80 | 60221100 | MANHOLES, TYPE A, 5'-DIAMETER, TYPE 1 FRAME, CLOSED LID | 3.0 | EACH | \$3,400.00 | \$10,200.00 | \$3,000.00 | \$4,482.00 | \$3,861.75 |
| 81 | 60248700 | VALVE VAULTS, TYPE A, 4'-DIAMETER, TYPE 1 FRAME, CLOSED LID | 1.0 | EACH | \$3,200.00 | \$3,200.00 | \$2,125.00 | \$3,065.00 | \$2,650.00 |
| 82 | 60248900 | VALVE VAULTS, TYPE A, 5'-DIAMETER, TYPE 1 FRAME, CLOSED LID | 2.0 | EACH | \$3,600.00 | \$7,200.00 | \$2,900.00 | \$4,165.00 | \$3,477.00 |
| 83 | 60255500 | MANHOLES TO BE ADJUSTED | 2.0 | EACH | \$395.00 | \$790.00 | \$500.00 | \$1,117.00 | \$816.75 |
| 84 | 60265700 | VALVE VAULTS TO BE ADJUSTED | 2.0 | EACH | \$325.00 | \$650.00 | \$500.00 | \$1,172.00 | \$818.00 |
| 85 | 60603800 | COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.12 | 63.0 | FOOT | \$29.00 | \$1,827.00 | \$27.00 | \$71.00 | \$41.00 |
| 86 | 60605000 | COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24 | 144.0 | FOOT | \$35.00 | \$5,040.00 | \$27.00 | \$71.00 | \$45.00 |
| 87 | 63100085 | TRAFFIC BARRIER TERMINAL, TYPE 6 | 3.0 | EACH | \$2,400.00 | \$7,200.00 | \$3,400.00 | \$3,704.00 | \$3,522.25 |
| 88 | 63100167 | TRAFFIC BARRIER TERMINAL, TYPE 1 SPECIAL (TANGENT) | 3.0 | EACH | \$3,500.00 | \$10,500.00 | \$2,880.00 | \$3,585.00 | \$3,166.25 |
| 89 | 63200310 | GUARDRAIL REMOVAL | 519.0 | FOOT | \$9.50 | \$4,930.50 | \$4.96 | \$12.00 | \$6.74 |
| 90 | 67100100 | MOBILIZATION | 1.0 | L SUM | \$75,000.00 | \$75,000.00 | \$75,000.00 | \$117,000.00 | \$95,000.00 |

Return Bid Details

Project: Hutchins Road at Mill Creek Bridge

Section: 17-00275-02-BR

Description: Replace existing culverts with bridge

CPMS Pin: B-01372A

Let Date: 3/12/2019

| Item No. | Pay Code | Description | Quantity | Unit | Eng Estimate | | Min. Bid Price | Max. Bid Price | Avg. Bid Price |
|----------|----------|--|----------|-------|--------------|--------------|----------------|----------------|----------------|
| | | | | | Unit Price | Extnd. Price | | | |
| 91 | 72400500 | RELOCATE SIGN PANEL ASSEMBLY - TYPE A | 3.0 | EACH | \$475.00 | \$1,425.00 | \$125.00 | \$200.00 | \$149.75 |
| 92 | 78000200 | THERMOPLASTIC PAVEMENT MARKING - LINE 4" | 962.0 | FOOT | \$1.10 | \$1,058.20 | \$1.45 | \$2.10 | \$1.75 |
| 93 | 78000300 | THERMOPLASTIC PAVEMENT MARKING - LINE 5" | 962.0 | FOOT | \$2.50 | \$2,405.00 | \$2.15 | \$3.00 | \$2.49 |
| 94 | 78000600 | THERMOPLASTIC PAVEMENT MARKING - LINE 12" | 66.0 | FOOT | \$5.10 | \$336.60 | \$5.85 | \$8.00 | \$6.54 |
| 95 | 78009004 | MODIFIED URETHANE PAVEMENT MARKING - LINE 4" | 286.0 | FOOT | \$2.60 | \$743.60 | \$6.00 | \$6.50 | \$6.25 |
| 96 | 78009005 | MODIFIED URETHANE PAVEMENT MARKING - LINE 5" | 286.0 | FOOT | \$2.90 | \$829.40 | \$7.00 | \$10.00 | \$8.49 |
| 97 | LC200051 | REJECTED LOAD TRANSPORTATION | 5.0 | LOAD | \$1,500.00 | \$7,500.00 | \$50.00 | \$1,022.00 | \$493.00 |
| 98 | LC200501 | MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS | 5,888.0 | UNIT | \$1.00 | \$5,888.00 | \$1.00 | \$1.00 | \$1.00 |
| 99 | LC600200 | INSTALL SURVEY MONUMENTS | 1.0 | EACH | \$5,000.00 | \$5,000.00 | \$800.00 | \$1,500.00 | \$1,189.00 |
| 100 | X5030290 | STAINING CONCRETE STRUCTURES | 421.0 | SQ YD | \$5.00 | \$2,105.00 | \$1.00 | \$60.00 | \$27.88 |
| 101 | X5610656 | WATER MAIN TO BE ABANDONED, 6" | 155.0 | FOOT | \$22.00 | \$3,410.00 | \$20.00 | \$55.00 | \$29.25 |
| 102 | X5630006 | CUT AND CAP EXISTING WATER MAIN | 2.0 | EACH | \$3,900.00 | \$7,800.00 | \$700.00 | \$4,500.00 | \$2,341.50 |
| 103 | X6026050 | SANITARY MANHOLES TO BE ADJUSTED | 3.0 | EACH | \$925.00 | \$2,775.00 | \$700.00 | \$1,426.00 | \$1,056.50 |

Return Bid Details

Project: Hutchins Road at Mill Creek Bridge

Section: 17-00275-02-BR

Description: Replace existing culverts with bridge

CPMS Pin: B-01372A

Let Date: 3/12/2019

| Item No. | Pay Code | Description | Quantity | Unit | Unit Price | Eng Estimate | Extnd. Price | Min. Bid Price | Max. Bid Price | Avg. Bid Price |
|----------|----------|--|----------|--------|-------------|--------------|--------------|----------------|----------------|----------------|
| 104 | X6026624 | VALVE BOXES TO BE ADJUSTED (SPECIAL) | 1.0 | EACH | \$500.00 | \$500.00 | \$600.00 | \$1,426.00 | \$994.00 | |
| 105 | X6700405 | ENGINEER'S FIELD OFFICE, TYPE A (MODIFIED) | 9.0 | CAL MO | \$2,500.00 | \$22,500.00 | \$500.00 | \$5,281.00 | \$2,470.25 | |
| 106 | X7010216 | TRAFFIC CONTROL AND PROTECTION (SPECIAL) | 1.0 | L SUM | \$30,000.00 | \$30,000.00 | \$836.00 | \$135,000.00 | \$36,209.00 | |
| 107 | X7810300 | RECESSED REFLECTIVE PAVEMENT MARKER | 28.0 | EACH | \$45.00 | \$1,260.00 | \$69.50 | \$149.00 | \$106.13 | |
| 108 | X7830070 | GROOVING FOR RECESSED PAVEMENT MARKING 5" | 962.0 | FOOT | \$1.00 | \$962.00 | \$1.00 | \$2.00 | \$1.45 | |
| 109 | X7830072 | GROOVING FOR RECESSED PAVEMENT MARKING 6" | 913.0 | FOOT | \$1.50 | \$1,369.50 | \$1.25 | \$2.10 | \$1.65 | |
| 110 | X7830078 | GROOVING FOR RECESSED PAVEMENT MARKING 13" | 66.0 | FOOT | \$3.00 | \$198.00 | \$3.60 | \$12.50 | \$8.15 | |
| 111 | XX001249 | ORNAMENTAL FENCE | 32.0 | FOOT | \$225.00 | \$7,200.00 | \$88.95 | \$161.00 | \$122.49 | |
| 112 | Z0013797 | STABILIZED CONSTRUCTION ENTRANCE | 150.0 | SQ YD | \$17.00 | \$2,550.00 | \$1.00 | \$167.00 | \$48.25 | |
| 113 | Z0013798 | CONSTRUCTION LAYOUT | 1.0 | L SUM | \$25,000.00 | \$25,000.00 | \$2,770.00 | \$27,000.00 | \$15,880.00 | |
| 114 | Z0016702 | DETOUR SIGNING | 1.0 | L SUM | \$15,000.00 | \$15,000.00 | \$10,000.00 | \$19,000.00 | \$15,092.75 | |
| 115 | Z0022800 | FENCE REMOVAL | 98.0 | FOOT | \$5.95 | \$583.10 | \$4.85 | \$8.40 | \$6.06 | |
| 116 | Z0044600 | PRESSURE CONNECTION 6"X10" | 2.0 | EACH | \$6,500.00 | \$13,000.00 | \$6,000.00 | \$7,555.00 | \$6,863.75 | |
| 117 | Z0046304 | PIPE UNDERDRAINS FOR STRUCTURES 4" | 134.0 | FOOT | \$24.00 | \$3,216.00 | \$15.00 | \$82.00 | \$42.00 | |

Return Bid Details

Project: Hutchins Road at Mill Creek Bridge

Section: 17-00275-02-BR

Description: Replace existing culverts with bridge

CPMS Pin: B-01372A

Let Date: 3/12/2019

| Item No. | Pay Code | Description | Quantity | Unit | Eng Estimate | | Min. Bid Price | Max. Bid Price | Avg. Bid Price |
|------------------|----------|---------------------------------|----------|------|--------------|-----------------------|----------------|----------------|----------------|
| | | | | | Unit Price | Extnd. Price | | | |
| 118 | Z0062450 | SAWING PAVEMENT (FULL DEPTH) | 70.0 | FOOT | \$10.00 | \$700.00 | \$2.50 | \$10.00 | \$6.63 |
| 119 | Z0073510 | TEMPORARY TRAFFIC SIGNAL TIMING | 4.0 | EACH | \$950.00 | \$3,800.00 | \$300.00 | \$9,000.00 | \$3,325.00 |
| Bid Total | | | | | | \$1,343,202.85 | | | |